
areas of the smaller triangles. 

Remember, triangle area = 1/2 (base x height)

M A T HM A T H
G E O ME T R Y

6

5 = ½ (6x5) = 15 square feet
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8’
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21’

7’

1

3’

sail 1

sail 2

Sail 1 area:

Sail 2 area:

Triangle 1 area = 1/2 (11 x 4) = 1/2 x 44 = 22

Triangle 2 area = 1/2 (21 x 8) = 1/2 x 168 = 84

Triangle 5 area = 1/2 (13 x 3) = 1/2 x 39 = 19.5

Triangle 6 area = 1/2 (8 x 5) = 1/2 x 40 = 20

= 19.5 + 20

= 22 + 84 + 73.5 + 81

= 260.5 square feet

= 39.5 square feet

Triangle 3 area = 1/2 (21 x 7) = 1/2 x 147 = 73.5

Triangle 4 area = 1/2 (9 x 18) = 1/2 x 162 = 81

Aye Aye, Area!
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ANSWER SHEET

Calculate the area of the sails by �nding the
areas of the smaller triangles. 
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